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M/1/2007/Q4

Using the substitution u = 3"

, or otherwise, solve, correct to 3 significant figures, the equation

3'=2+37""
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M/J/2010/Q1

Solve the equation
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giving your answer correct to 3 significant figures.
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M/1/2011/Q2

(i) Show that the equation
log,(x +5) =

can be written as a quadratic equation in x.

(ii) Hence solve the equation
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0/N/2012/Q2

Solve the equation
5.\'—] — 5.\' -5

gIving your answer correct to 3 Significant figures. (4]

M.JAWAD AMIN




M/1/2015/Q2

. . . - . p 2 anp) . .
Using the substitution # = 4%, solve the equation 4' + 4~ = 4"~ giving your answer correct to
3 significant figures. [4]

M.JAWAD AMIN




0/N/2015/Q2

3x

Using the substitution u# = 3%, solve the equation 3" + 3% = 3 giving your answer correct to
3 significant figures. [5]
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0/N/2017/Q2

Showing all necessary working, solve the equation 2log, x = 3 + log,(x + 1), giving your answer
correct to 3 significant figures. [5]
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M/1/2019/Q2

Showing all necessary working, solve the equation 9* = 3* + 12. Give your answer correct to 2 decimal
places. (4]
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